TR=-T N AY =N T

‘FDT3—*x—%xG 2

‘ — B ATy MTAUY 29. 4 MPa
T AN - TDCV3—dok—+xG 2
- Mgtk (FDT3-03, 04/TDCV3-03, 04)
c E_
G F
1
© ©
] g =
- L1 1L ——
@) =| 2
= —
LI:T/\;—?\N—:IJ
@/ \1&
b 4L L N\ 4-09, 97 147ES]
:
- 5VMEz<Fi% (FDT3-08, 12/TDCV3-08, 12)
c E
- G = SRR U IEHRL 0
= I *TDCV3TE 0D 7 =
] ki ey

|
_)\—/ )
1
//\ //:\ //\ [
7 3\ 7
@ \:)/) \i\/\/’ \:p é = e
77N 77~ /
4 S \
TR
4= 13,4777 ) p 22 X1
Al P _||B 1271
- B 4-¢ 16,977 ¢ 237 X1
T B %
5 o= -+ P gﬁ e . ) . - . ] Cles
2 z =R EiERE = ]
(I/mijrﬁ_ }(El/mir:% (MPa) P A-B (ke)
4G 4 3~ 5
6 G 6 5 ~ 8
03 10 G 10 8 ~ 13 $18 | 18
15 G 15 3 ~ 18 184 | 96 69 | 36 70| 78 | 54 |53
20 G 20 17 ~ 25
30 G 30 25 ~ 36
4 70 g 40 33 ~ 48 | +0 3 ¢22 | &18
FDT3 50 G 50 42~ 60 |0 7
TDCV3 60 G 60 50 ~ 72
08 80 G M) 67 < 95 $30 | @24 [ 236 | 120 | 88 | 48 | 104 | 94 72 [11.5
100 G 100 85 ~ 120
120 G 120 100 ~ 145
160 G 160 135 ~ 195
12 [ 200 G 200 165 ~ 240 ®40 | 30 | 298 | 150 | 110 | 60 | 130 | 122 96 | 22
240 G 240 200 ~ 290
300 G 300 260 ~ 350




